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Grades 10-12

Calculus I
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Unit 1 Practice
Algebra & Pre-Calculus Review
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Calculate the slope of the lines connecting the points:





(9, 6) and (1, -4)                                                    (12, -7) and (3, 8)














Calculate all x and y-intercepts of the equations: 





� EMBED Equation.3  ���                                                               � EMBED Equation.3  ���














Write the slope-intercept form equation of the lines described below:





Passes through (5, -3) and parallel to � EMBED Equation.3  ���                    Passes through (-8, 2) and parallel to � EMBED Equation.3  ���

















Describe in words (left/right, up/down, flip, stretch/squish) the shifts and transformations of the functions:





� EMBED Equation.3  ���                   � EMBED Equation.3  ���                    � EMBED Equation.3  ���                   � EMBED Equation.3  ���

















Identify the vertices of the functions and sketch the graphs:





� EMBED Equation.3  ���     Vertex @ ( ______ , ______ )            � EMBED Equation.3  ���    Vertex @ ( ______ , ______ )





                       �                                                             �





Evaluate the trigonometric function value:








� EMBED Equation.3  ���__________                             � EMBED Equation.3  ���__________
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